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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Figures to the right.

1 (@) The data from the budget and actual data of 14
"Madhav Mention" factory for January, 2017 are as
follow :

Budgeted production 600 units.

Budgeted variable overheads Rs. 15,600.

Standard time for production of one unit : 20 hours
Actual production during the month : 500 units

Actual variable overhead expenses for month Rs. 14,000
Actual hours during the month 9,000 hour's
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(b)

From the above data calculate :

(1) Variable overhead cost variance

(2) Variable overhead expenditure variance
(3) Variable overhead Efficiency variance

Following is the information of production department
of "Krishna Ltd." :

Particular Estimate Actual
Production 4,000 3,800
Working day's 20 21

Fixed overhead Rs. 40,000 39,000

You are calculate the following variance :
(1) Fixed overhead variance

(2) Fixed overhead volume variance

(3) Fixed overhead efficiency variance
(4) Calendar variance.

OR

The details of overhead of "Amidhara Ltd." For October,
2017 are as follows :

Particular Budgeted Actual
Fixed overhead Rs. 80,000 90,000
Variable overhead Rs. 1,00,000 1,20,000
Production (units) 20,000 22,000
Hours 20,000 22,500
Working day 25 26
Calculate :
(1) Total overhead cost variance.
(2) Variable overhead :

(a) Overhead variance

(b) Overhead expenditure variance

(¢) Overhead efficiency variance.
3) Fixed overhead :

(1) Overhead variance

(2) Overhead expenditure variance
(3) Overhead volume variance

(4) Overhead efficiency variance

() Calendar variance.

10

20
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2 A company has budgeted the following sales for 20
January, 2017 :
Product - A 1,800 unit's at Rs. 10 per unit
Product - B 1,300 unit's at Rs. 20 per unit
Product - C 2,400 unit's at Rs. 15 per unit
The actual states are as under :
Product - A 2,000 unit's at Rs. 11 sales price per unit
Product - B 1,400 unit's at Rs. 19 sales price per unit
Product - C 2,200 unit's at Rs. 16 sales price per unit
The cost per unit of A, B and C was Rs. 9, Rs. 17 and
Rs. 13 respectively. Calculate sales variance. Based on profit.
OR
2  From the following information of sales related calculate 20
the variance :
Budgeted Actual
Pro- | Quantity Sale Total | Quantity Sales |Total
duct | (units) price Rs. (units) price Rs.
per Unit Rs. per unit Rs
A 5,000 5 25,000 6,000 6 36,000
B 4,000 6 24,000 5,000 5 25,000
C 3,000 7 21,000 4,000 8 32,000
12,000 70,000 15,000 93,000
(1) Total sales value variance
(2) Sales volume variance
(3) Sales price variance
(4) Sales mix variance
(5) Sales sub-volume variance
3 (@) "Shivangi Ltd." produced product "M" cost of 10
producing first unit of "M" is as under :
Raw materials Rs. 80,000.
Labour cost : 300 hours at Rs. 120 per hours
Variable overhead : Rs. 40 per hours.
If there is 90% learning curve effect. Compute the
cost of producing 1 (one) unit and 8 (eight) unit of
product "M" as well as average cost per unit.
(b) Discuss the uses of Learning Curve. 5
OR
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3  Explain the stages and Advantages (important) of activity 15
based costing system.

4  Write note : (any three) 15
(1) Explain the objective of Cost Audit
(2) Characteristics of Cost Reduction
(3) Techniques of Cost Reduction
(4) Objectives of Cost Control
(5) Advantages of Cost Control
(6) Cost Reduction and Cost Control.
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